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B. Tech.
(SEM. VI) THEORY EXAMINATION, 2014-15
ENVIRONMENTAL ENGINEERING - 2

Time ; 3 Hours] [Total Marks ; 100

Note: Artempt all Guestions. Assume any missing data suitably.

1 Attempt any four parts of the following (5%4=20)
(a) Discuss advantages & disadvantages of BOD & COD
tests,

(b) How are the organic content measured in wastewater
sample? Discuss any one method in detail,

{c) Why are some diseases called "Waterborne"? Explain
any one discase in detail

(d) The BOD of sewage incubated for 5 days at 30°C is
130mg/ Calculate the BOD at 20°C. Assume K20=0. 1

(e) Give the masimum acceptable kimits of TDS, turbidity,
colour, hardness & pH in drinking water.

() Deduce an expression for BOD with curve.
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2 }gaﬁgn&qﬂﬂ_ﬁmﬁg” { 100<2=20)
(a) g?ﬁgwqﬁgﬁcmgghg
%HE%EEEE

water treatment plant.

(c) At awater treatment plant, 12 million litres of water
Iﬂﬁ&g,:#ﬂga%g_mamgg.
1:&-&&::!&4%%5%&%.
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3 Attempt any two parts of the following : (10%2=20)
(@) uiﬁpiﬁa@qsn&saﬁ%:ﬁma

raw water per day allowing 0.5% of filtered water for
backwashing Half hour per day is used for

{b) Emﬂagwﬂ&ﬂ:u_niﬁuﬁﬁaﬁuﬁam#ﬂu.

(c) ?nﬁﬂqﬁﬁ:ﬂﬁrﬂaigwmﬁu&g
nmw!r&&%ﬁﬂ-%ﬁu%.?
m#ﬂﬁ:ﬁ?aﬁﬁﬁnﬂ-wﬁnwﬁsaﬂﬂ&hﬁ&ﬁo

factor=0.85 & specific gravity =265, the depth of the
w&mua.mqﬂh%muc.a.ﬂﬂ%mﬁ_ﬂgg

g#ﬁ#&.?aﬂi@%inﬂumﬂg
& dynamic viscosity =1.0 * 107 kg/m)
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4 Attempt any two parts of the following : {10=2=20)
(a) Differentiate berween activated sudge process & trickling

filter process.
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(c)

ﬁﬁﬁ%ﬁ;«:ﬁ%ﬂi?ﬁ
ihg data:

Flow + 4 Mid, Recirculation|ratio =1.4,B0D of raw
sewade=250mg/l,BOD rpmoved in primary
F:,mu"nuﬂ..‘..m:-_ effluent HOD desired = 50mg/1.
Desigy a facultative aerated [lagoon to serve 50,000

_ m 180 1ped=7200cu.m/
Rdw BOD. = 275mg/1 &|final BOD; is not exceed

Attempt an four parts of the follpwing : (5=4=20)
(&) What |is septic tank. EEEH.H%W&E%
-ehtralised & decentralisqd wastewater treatment.
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o is UASBR? Discuss {ts features.

bed feactor,expanded bed feactor.

4t is anaerobic &m_ﬂzoag Explain in detail.
Deesign a septic tank for 300 users Water allowance is
120 litres per head per day. Detention period may be
taken as % hours Draw & neat sketch of a septic tank.
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